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120,000,000 120,000
OMSAIE =&Y 2,000,000& *22 4,000
orRlE=01E 29 1,229,378 685,793 543,585
201 Ler23 | 4,000 23,000 219,000
01 At2teltl 4,000 0 4,000
OMN:el=s- Sl gtz
2,000,000 *23] 4,000
309 HES 1,105,378 662,793 442,585
01 SAL- SHBYHES 1,105,378 662,793 442,585
Oz A2eBH ME3(E=01E 29) 1,105,378
Oz g 2elt| 813,259,000 813,259
oztg2ell| 292,119,000 292,119
401 AIEHIKL =] 120,000 120,000
01 A28l 120,000 120,000
O0t2l==018 Al Hd
120,000,000& 120,000
sS-38Y 29 2,082,765 2,062,048 20,717
309 HES 2,082,765 2,062,048 20,717
01 SAL- SHEYTES 2,082,765 2,062,048 2,717
O=AlZelss HES 2,082,765
oz g2elt| 1,532,352,000& 1,532,352
ozg2ell| 550,413,000& 560,413
sSHEE 24 6,000 0 6,000
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A NS
M JgdEs Sg 722 A S
ol MSAE Xl 2= EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 AlZHIZL SO 6,000 6,000
03 Al< = THHI 6,000 6,000
OZE2=2% T8 AR
6,000,000& 6,000
ZoHe! M= gd3st 632,432 566,724 65,708
Il 105,516
Al 113,344
- 413,572
ZONQ MBS XIS A B XA 72,004 70,456 1,548
) 31,302
Al 14,441
T 26,261
307 lztol & 72,004 70,456 1,548
Jl 31,302
Al 14,441
- 26,261
02 LB HANHEE 72,004 70,456 1,548
OH AU HEH SRS B XA
36,002,000 2 72,004
Il 31,302
Al 14,441
- 26,261
ol MM XA 59,783 57,973 1,810
307 elztol & 59,783 57,973 1,810
02 LB AL E X 5,000 5,000 0
ZOHQHHERIEHE UolEd HH M=
2 5,000,000& 5,000
03 PIZHNEE 22X 54,783 52,973 1,810
Os7&M M=sl X3 54,783
(©ftikals] 51,783,000& 51,783
o22aH| 3,000,000& 3,000
AE2s JVIR 22 371,625 348,035 23,590
Al 83,000
- 288,625
201 er23| 12,400 11,400 1,000
01 AtR2t2|HI 6,000 6,000 0
OZs=a NS 500,000 * 12 6,000
02 s3=gHl 6,400 5,400 1,000
OZ33== MA 5,400
OZ==a 2l 100,000& «12& 1,200
Od=s==2 22| 200,000 * 122 2,400
OZAIIIAAIER 150, 0002+ 12 1,800
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A NS
M Jgdss Sg 722 2 S
chelr ZoHe! X 435t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Otz B Wil
1,000,000 *1CH 1,000
202 04dl 810 1,620 AB10
01 2L AL 810 1,620 A810
Ozl 810,000 810
301 EtE NS 368,415 335,015 23,400
Al 83,000
- 275,415
Rzt - 2SFS2Eds 368,415 335,015 23,400
OZOHABHERIBEAAE 2 368,415
@) 222,846
o= 4,487, 1602« 1H« 122 53,846
[ JaE={t 3,145,833 «4F 128 151,000
Al 83,000
- 68,000
O (X2HH)
300,000 x5+ 12 18,000
CAUEE J 2R3 (ZS)
5,762,000& 5,762
OCAUEE J 2R =(d=)
19,157,000& 19,157
OXI=Xt &=H| 300,000 «1H« 122 3,600
Otz =a| 32,000,000& 32,000
O&Xl=&t| 2,500,000& *23] 5,000
oss % L=H 6,000,000 +5H 30,000
otz Zxa= 2,000,000 *62! 12,000
odxdEel= 500,000& 62 3,000
O2rZ e 100,000 62 600
OEAH| 30,0003 5 +73] 1,050
oZJIE Mol 7
11,700, 0002 =2CH 23,400
ol HEHM=Ua XA 23,000 23,000
307 elzto| & 23,000 23,000
02 2B HAIHE & 5,000 5,000
OZ0fe m3a==iisl X
5,000,000& 5,000
04 QIZHHAMAIH 2 £ 18,000 18,000 0
O0=8 OetEtizl 18,000,000& 18,000
FOHUAZ=ARO0IED K& A 106,020 67,260 38,760
Jl 74,214
Al 15,903
- 15,903
307 @I2t01 & 106,020 67,260 38,760
Jl 74,214
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A NS
N JSAES S8 20 AL =X
=l Hoje! M= 2435 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 15,903
T 15,903
02 2IZHB A E £ 106,020 67,260 38,760
OHOMHAAZ=ZROISH K& At
106,020,000& 106,020
Jl 74,214
Al 16,903
- 15,903
HH 23 128,808 117,263 11,545
2 (RIS 78,996 74,003 4,993
el E2d| 78,996 74,003 4,993
101 ©1AH| 78,996 74,003 4,993
01 2= 73,983 52,631 21,352
OxH2R4+Z 73,963
OAIRIIRR4Y
12,8443 +36A12H+ 118123 59,340
OAIZtRIZ2R4Z (LBt IIH62)
12,8443 +36A| 2tx1E * 122 5,3%
OAIZIRIZ2Z(LELIIMT7Z)
11,6023 *x30A| 2+ 1H 122 4,873
QA2 R4 (LD M)
10,4162 +30A1 2H+1H* 128 4,375
02 JIEtME = 5,013 21,372 16,359
Ooz=z22=¢ 5,013
OAIZIR 2R (AR DM =)
11,6023 x18AI 2H+2EH* 123 5,013
Jl23H(nsH=S) 49,812 43,260 6,552
Jl=2&H] 49,812 43,260 6,552
201 er2 3| 20,232 17,040 3,192
01 At2t2lt] 20,232 17,040 3,192
OJI2 A2/l 21,0008 x14F~12E 3,528
OSZAE 34l
9,0003*16H+8Ax 122 13,824
O=ADI| itz 240,000 = 1CH* 122 2,880
202 04| 26,880 23,520 3,360
01 =LHO LI 26,880 23,520 3,360
OZLH0AH| 20,0002 x 16 +7&* 122 26,880
203 HR=H| 2,700 2,700
M FAZSLRFEI 2,700 2,700
O21E=24(1520I3t) 250,000 * 122 *90% 2,700
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